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SECTION—I : MATHEMATICS
-

140 ' ;
210

140

210

(1) terminating decimal ; | |24
eoémfﬁ)é I alor o}

(2) non-terminating and repeating decimal <

008 af

060 520 S8 &8 EwroTo

(3) non-terminating and non-repeating decimal
@00 520 H08ain e5dd0 520 EB°0B0

(4) None of the above 1
T 5% -

The remainder when the square of any prime number greater than 3 is divided by

6 is

3 g3 VDB DB (S5 Hogy BNk, HGRy 6 3 grRowe Hid) B q‘\
(1) 1 2) 2

(3)r 3 (4) 4
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- What is the structural formula of simplest ketone?
808 TRS° ©d Srdes (simplest) 8e5°5 bﬁ?

(1) CH;—0— CH, (2) CH,— NH,
(0]
I I
(8) CH; —C—cH, (4) CH3 —C—OH
117. Ethene and ethyne differ in the
BBS 5Bk 2B VBB eoTen
(1) number of carbons (2) number of bonds
S8 )d0 Soa) ~ R0GA0e Poy
(3) number of hydrogens (4) (2) and (3)
. pEwSo Sopy (2) %080k (3)
118. Identify the dimethyl ether.
- GRS LagsB K MBosod
f
(1) CH; —C—CH, (2) CH,—O—CH,
o) Icl)-
119. Saturated hydrocarbons contain
o3 2 EstySen ¥8R dochdo.
_{1) ‘at least one double bond (2) at least one triple bond
£550 2.5 Bwotso €950 2% Buoto
(3) all single bonds (4) at least one ionic bond
@) ¥ wogsBne 5280 2.8 ok eoko
: (2) acyelic hydrocarbons
Ho% _':g)ome; {Lﬁ's-ESQSw m&@dﬁ;{z@‘susasm
(3) open chain hydrocarbons (4) (2) and (3)
D)8 Byoge IPE'SESen (2) S0Batw (3)

[28]
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08 Soresost 8 b g = the following metals wil] pe
(1) K, Na, Ca g i
(3) Ca, Na, K 2) K ca, Na
: (4) Na, K, c
112. Poling process s used to a
- RSB Elohn e Tty
(1) concentrate the ore . (2) reduce th
‘ | € e
| S0E DD o\ Akes e “m: )
- (3) heat the ore with o 'g‘dﬁ
, 2 (4] purify the crude metal
compoungs i s, R
530 (charge)

Bod Ko FodsHE b

(1) silver chloride @)
Do SBE
(3) silver nitrate (4)
Bes5 2S5 -

114. During corrosion, a metal will
| St o SoBvHE, & ST

(1) be oxidised (2)
585890 DOBIW
|' (3) be reduced (4)

115. Replacing one hydroge

R £ (2)

(1) aldehyde
o ! F. Bg':{& : )
(3) amine

B0

: By FoRodd
o &8),S 107D T5T» NH, #00& &8 piEme 80

_ 113. Corrosion of silver results in the formation of

pure silver

55378 Dod

silver sulphide
Do S3HE

lose electrons
dogHI0R S SHhH™
(1) and (2)

(1) S0Baw (2)

(0 D).

ketone
85°S

ester
.3595

n from NH, by alkyl group will result in the formation of

-'_i.'

[27 ]
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106.

Identify the C€orreet statement.

111. R
M8 @005 [0Sk 180508 &
(1) By losing electron chlorine becomes cation (1
RN §%S%5¢0 TR0 58S SPeaROT 57780 (3
" (2) By losing electron chlorine becomes anion =
OGO SEY5o tro §985 esasreon Sty L3 |
(3) By gaining electron chlorine becomes cation oo
DUFTD Foescio Tyer E65 sesat S (1]
(4) By gaining electron chlorine becomes anion
JOFSR F0tstk0 oo $65 esatrsom 5 (3)
107. An element 13 fotras ok compound. What is the charge on X’ in ionjc compoung
; 3X27 & B077050 o Ry ST HHED08. 00055 e SToS® X’ Surceso QoY) edgo (charge 113. Co
DO ? e
(1) +1 (2) +2 (1)
(8) +3 (4) +4
108. Linus Pauling Proposed the concept of (3)
B30 200f (58380035 P D8?
(1) ionic bond (2) hydrogen bong
@ODE 0dso TSRS 20850 114. Dur
(3)  hybridization (4)  covalant bong | s
0585880 SOBradah aoo (1)
109. Electronic configuration of 02 ion is g
= 3
02 @Ry @Bg), OeJL'gS DTS00
(1) 1% 282 op4 (2) 162 262 5,5
2 6
(8) 1s% 2 op B 9275 3 115. Reple
110. The number of electrong gained by non-metallijc element ig equal to its &) ¢
&5 085 Sar0%0 svom DG Sog)s o RRR0 (1)
f (1) valency (2) &roup numper
(3)  bond angle

(4)

A

All of these

206 E'%0 OR)0i R ool
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1)
(3)

03. IVA group elements are called

.\

2
101. 1s%, 252’ 2 S
10 P, 382, 3p5 [2,8,8}

1% 2% 25°, 392, 36 (5 5 o
P o

S'-Z

102. Lithium, sodium and

]

[3&: VA0 2B widy &858 @8smen,
2

(3] > (2). ca

IV A group 300ro5oR0 00 Heodetd?

c :
onfiguration is related to

oSy —— % SomoBonsa,
(2) cr?
(4)

All of these

SN0

— are Dobereiner’s triads.

(4) K

(1) carbon family (2) chalcogen family 5?&’
?505 Leno0 et atisons . _:;:.
Siliritiogep family (4) boron family -
DeSesdS Hre0e0 SIS ok
104. An element X’ belongs to 2nd group and 3rd period. What is its valency? =
25 D D80 3D DG DoBS X' o Sareto Snk), DR 4
(1 ! @ 2 4
3 3 (4) 4
105. Valance Bond Theory was proposed by : -.‘»
Body 208 ﬁ)cgoé‘m)m B8BoDOB 9.
(1) Lewis (2) Kossel
©I00D %S
: (4) Bohr
(3) Pauling o .
MOK SPACE FOR ROUGH WORK / :w.fg:)mg %?3;5»
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M £8y508° a0t B dogrive Sopy

(1)
(3)

2
18

95. The maximum number of electrons in M shell is

2) 12
(4) 24

96. Which of the following orbitals does not exist?
(808 =0 b 586075 DRV G0EE?

(1)
(3)

2p6

(2) 3s!
(4) 2d°

97. Niels Bohr received Nobel Prize in
D HB__ TFoS® SS H5, 80 SroTH?

(1)

(3)

Chemistry (2)
B0

Biochemistry (4)
BSEF00D

Physics
8
Biophysics
BT RE

98. The number of degenerate orbitals present in 4d subshell is
4d esByerdS” o8 %8 Ko astore oy

(1)
- (3)

99, Presence of 3 unpaifed electrons in nitrogen ca;n be explained by

8
5

(2)
(4)

10
4

DS BOS" 3 2BLED dogRoes GosER) 360D dabsIS

(1)

(3)

100. Strong ionic bond is formed between and

Aufbau (2)
@9 DADHHHD
Hund (4)
Sro& DaHBBD

Pauli

) [3[ev S REIEY)
Bohr

£ DoHB

8roup elements.

| DOBD WOIRE 2040 He (PN Sareste D0Gg Y

(1) IAandlIIA (2) IIA and vir A
(3) IA and VIIA (4) TA and v a
- SPACEFOR ROUGH WORK /9508 35y
s ®
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principle.
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101. 1s
1
(1
(3

102. Li

103. I\

104. A

105. Vi

2k
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| EC’I‘ION-—III * CHEMISTRY

h one of the followj

ic nature of sojug €an be ygeq : !
. solution? as acid-bage indicator to detect acidic or

None of these
T )

| —, then it is called acid rain. |
v eTH) B S é:s&é)_c‘éa, TR 52 S0 ©0oerdDd. |

i (2) 76
(4) 86
ar el is made up of
TS 8 083 doeos.

(2) calcium chloride
s°dawo §3&

(4) magnesium sulphate
ofdoto 5SS

. 11 observe on pouring potassium hydroxide on red and blue litmus papers?
PN mﬂom_g&@_maﬁn 5O dbyd SRBO P DITHE, W D DHEIRY KoBI=EH?
5 | ﬁs remi?;ins red and blue litmus turns to red

" 50 DO Doy DI BITOR

5 dEHTR éoqﬁsz\’n. |
) blue litmus remains blue

Lus turns to blue and
f 50 DO ey DOOIT GO

colorless and blue litmus remains blue

. (8]
a0 iR, 50 DD By Do S0

to blue and b
458050 DO Begd AV DI

JGH WORK /008 o

lue litmus turns to red




88. The magnetic force acting on a moving charge in a magnetic field is the prodye

three quantities namely

' (1) charge, speed, electromotive force
D90, D&, ad)égagws OS50
(2) charge, magnetic flux, magnetic flux density
&350, @ODHI,08 VPO, @008 ST De0((SEs
(38) charge, speed, magnetic flux density
‘ D50, 98, ©AN),08 SHTT® oS
(4) charge, speed, current
esddo, ::a,'acssgé (B5Seo

TED eiso : -
(1) multimeter (2) transformer
2920008 ESCEeS
(3) dynamo (4) _voltmeter
GO S'G Howb
-90.

Faraday’s laws of electromagnetic induction is a consequence of
% DA, 08 (s KoriErey @5580535 D0
(1) écons.ervation‘ of mass
B550°8 Dgco |
(2) conservation of linear momentum
Bty (553K D50
(8) conservation of angular momentum
Sl (G553 Difsthco
(4) conservation of energy
#E Ditogtheo

SPACE FOR ROUGH WOR[K /OMB5DE Derdiany
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89. An auto driver started an auto rickshaw with the help of pulling a rope. The devic
used by him to convert mechanical energy into electrical energy is

2.8 €365 296 eS8 Bt erNtio S58a08" R DT, RotHE® Ao @ B, DS BT Srtyens

91. Whic
basit

LC.';"’B'J d

(1)

(3)

92. If pt
589
(1)
(3)

93. Toot
Soss
(1)

(3)

94, Wha

/94—



| ©o,08 BEmy030150 5700 Aty doniig, o8 1m0 s, Byoes iy Bl

(1) north-east direction (2) east-west direction
SBE5-808)) Ges By -SESE Ben

(3) south-east (liirection (4) north-south direction
&S8pa-&esy) BFen aB8-G8m G¥en

An increase in magnetic flux through a coil of 100 turns in 0:1 s is 0:001 Wb. The
‘maximum induced EMF generated in the coil is

o6 EORD i -1 s &° Eeul) @a%m,08 @RS BENE 0-001 Wb eand 98¢ K85
100 0633 $9RS SifoggS® 01 5 59 16 KB
(2288 2Ex5bTTIOL weB Jenid

(2) 10V

(4) 100V

ja—A (21]
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55 o aoeoﬂ.ﬁ 3&.@&0@ a.muw
.ﬁ.w_ Onnwﬂmn :

D (%
B apbys
(4) Ohm

5

2 6

4) 15 “,
following is not a measuring function of a multimeter? B i
) K T8 |
(2) Current 3
D85S (o . ,
(4) Resistance
26%s0
SPACE FOR ROUGH WORK / .d@.wuam ‘I.WUUB |
L
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73. In old age, the value of least distance of distinct vision shifts to

TIFS* HRSR EVHETB0 Dewsh B> 0

77. 6 watt x g

6 Ty » 3

(1) larger value (2) smaller value (1) 6 vol
QLD D0 PHKH BEYD ded PH

(3) Does not change (4) None of these 654

D009 BT WBH 55 (3) 6jou

6 24

74. Electric voﬂn..ﬂ is the product of current and

DS o850 BB DS (ST BA ® ogo.

78. The relat

1) resistance 2 h.
(1) (2) charge Siasin
&0 &DH0 ,

(3) velocity : (4) potential difference (1) Far
o 2PAHS B 262
75. Three resistors each of 4 @, 0-4 Q and 0-04 Q are connected in series combination. (SIS Hixe
Their equivalent resistance is &

4 Q, 04 Q 6o 0:04 Q Devsen EHRD D VE'TPOH BB Sogro DT, T3 5 D6%S0
I _ (2) 444 Q 79. The elect
_ (4) 044 Q day in a
from the following two statements : 40 W X
- =3
5908 HBEPY FTH0 JoBsod : : DS 3 (
semiconductors, (1) 12

3 3

80. Which o

(2) Only (b) is true S0d20eB
(b) S35 eso (1) Ch

o

..Ts Both (@) and (b) are false (3) Vol
(@) $:80%0 (b) Bocire xy>es 58

°E FOR ROUGH WORK /i858 Ruidiing
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[SESR))

Y1 due to the scattering of light by the atmospheric molecules

@ N,ando,

N,, 50800 O,

s of focal length 20 cm is

' (2) 02D
(4) 2D

4
(2) before the retina h
T 3dme B0
(4) Does not form an image

S A

.

[H5@B0w0 I

wormal h 4 an-eye, 0.5 cm is the distance between
55 .5 om B Sotgg IO
nd cornea (2)

556050 SO 0t

eye-lens and retina

o83 K58 0Bk B8 B0tk ._
(4) H,.mﬁnm and object

B 980K SR DBy

[PTO



63. Irrespective of t
always forms an

image of nature

DD
n (2)
(1) real, invert
2, Bofole
: ct (4)
(3) yirtual, ex€
2oy DT

64. The lens which is bounded by one-curved
o Se0 KOR &) Ko
0 (2)

biconvex

(4)

he position of the object on the principal axis, a concave lens

o0 508" Vorodo BLOG, .8 Hers s Kuu¥o degyer Hisyss 3&Hoe Sgarso
wETE real, erect
03, DYDY
Does not form any image
E8Domo I

surface is

biconcave

BgDerses

concavo-convex

T8 -S08seE

object and image distances due to convex lens

98 Sos éote 'm0

(2) 45°

(4) 83%
into VIBGYOR colours is called

OR Sotbenre ade%) 518a%
(2) dispersion
DEI0
__._ reflection (4) refraction
308tii0 585550

SPACH, FOR ROUGH WORK

|I.I.I.I|.I.|.III|||||15111,-
/90508 R

then its focal

68. The light w

B3 D0 5%
(1) red
_ e
(3) wviolet
=1y

Blue colouy
of

e35°30 D Sc
(1) Emo

(3) H,

The power
20.cm T
(1) 5D
(3) 1D

In hyperm
B8 8 &%
(1) Dbeyo:

B
(3) on tt

B3~

For a nor
RO T
(1) eye-l

Soed ¢
(3) retin

Bl

1a—A



. The speed of li
ght in
index 4/3 is vacuum is c. The speed of light in
. a medium of refractive

o . o ¢ @ond 4/3 T Oea¥o ¥OR% :
i AIIrHE0S* 508 Bio
c/3 (2) ¢/4

(4) 3c/4
v

(8) 4¢/3:

- The principle involved in it is

7 555¢ER00. B8 S50 @o0ns wod oot

ure of ( 5 . refraction : | |

808 S0 @ reflection

| (8) total internal reflection (4) Mua.um&o
RogrgRoBs So58%0 um”.”oa_g

i m.w o ﬁ_ﬁu £3d0%0 %@
b. : (2) 2m
@ 1 133 m (4) 1m

_ ﬁh&oﬁm& 6350 TR (SERTEOR IR0 HE IO HODIYE Ty (SBDoRO IE)EE0H?
(1) at infinity
. e &rtos®
at centre of curvature
2156 Boito 3¢
between focal point and optic centre
THods BoED 38050 &8 Soso B0
pbetween focal point and centre of curvature
o ot 60k dser oo

—

>

SPACE FOR ROUGH WORK /83508 351550

[15]

[P.T.0.










47. 1f 35 is removed from the data 30, 34, 35, 36, 37, 38, 39, 40, the

n the Medjg,
increases by

30, 34, 35, 36, 37, 38, 39, 40, twros0s® 35 1) EoRoarvENB, T 2065/ Dense 2,

Drise g1,
(1) 2 (2) 15
3) 1 (4) 05
48. The modal class of the following frequency distribution is
4 1508 559Ny TSR0 B, BTV BEKS
Class Interval 0-20 20-40 | 40-60 | 60-80 [ 80-100
BINS woBdo o
Number of Students 15 18 21 29 17
Ua.wﬁwa uoenm
(1) 80-100 (2) 0-20
(3) 60-80 (4) 40-60
| 53.
49, If the mode and mean of a data

are 24 and 60 respectively,

then the median of the
data is

® B eriRIeEin 598k eol 0G0 BB 24 308060 60 a8, & eroto B,
(2) 48
(4) 46

the median class of the following frequency distribution is
906, BolS1E BONG 0D e

50-70 | 70-90 [ 90-110[110-130]130-150 |150-170
15 21 32 19 8 5
(2) 90
(4) 70

N 1 |

54.

The C.
45488 C
(1) jo

(3) di

If 27
27 °C 4
(1)

The pz

a8 23

(1) o

(3) ic

During
water

3
ol
>

/ #r..%y



iy

DARON S Sy

@) 70
e (4) 40
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40.

41.

92,

TN 39.

. a .
If asin4se = bcosec30°, then the value of b—“ is

4

asin45° = hcosec 30° ©oNB, ’27 ado¥); dews
(1) 1 | (2 2°

If sin20+ cosec?0 = 6 , then sin® +cosech =

sinZ0 + cosec?0 =6 ®@ond, sind + cosech =
(1) 32 (2) 22
(3) 42 4y 2

A tree is broken by wind, its upper part touches the ground at a Point 10 metres

from the foot of the tree and makes an angle of 45° with the ground. Then what js
the entire height of the tree?

a8 Dey md8 DBR0B. Td BAS D g0, ek gifo (%50) H008& 10 Y BI80S° Doy @i
DB &8 g08° 45% S0 Friggyeaond, & By @0, 3o I8y Jow?
(1) 15m (2) 20m

(3) 101+v2)m (4) 10[1+%—§Jm
If two towers of heights h, and h, subtend angles of 30° and 60° respectively at the
midpoint of the line joining their feet, then the ratio of h1 : h’z is

Py 398a1s hy dgen 5O Boctr Atses e FEOR K953 B Pocto @y, B0gss Doy fod
Bafn &85 S°eme0 SN 30° $Basks 60° ©owd, 373 e DB h, : b, =

(1) 2:1 @) 1:2°
8) 3:1 (4 1:3
If the Probability of guessi -

3 12 and the probabilit
ect answer is g then the value of x js

X S
0grgth 12 B o BahHsss DEI)e0H Doy

e e

1A

[10]

43. A

S

44. 1

45.

46.









slope of the line joining the po;
" N the points (4,2) and (3,~k) is -2, then the value of kis

! -‘ 7 * (2) 4 .

(4) -4

figure, if DE | BC, then x=

C=9cm? and the area of ADEF =16 em?. If

31 9 cm? 2086 ADEF Prosio 16 cm? . BC =2:1cm o8,

(2) 42cm
\ !
[4] 4_‘1 cm A x o

i

3 and AC =56cm, then AE =7

—_—

5

m__M'[[m,%=%WAC=5°6mm AE=?
' (2). 5cm

(4) 7cm Ny _= P
—SPACE FOR ROUGH WORK /835505 92 |
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26. If the slope of the line joini
e slope of the line joining the points (4,2) and (3,~k) is

(4,2) 080 (3,~k) & Botomyer, 8%, ~2, then the value of k is

l m = e o
@ 3 (2 4 .
1 x (4 -4
27. In the following figure, if DE || BC, then x=
i- &9 808 5008° DE || BC eoxd, x =

@ 7
4) V5 f i

the area of AABC =9cm? and the area of ADEF =16 cm? . If

AABC pFo 9 cm? $080$ ADEF w0530 16 cm?2. BC =21 cm sond,

(2) 42cm
(4) 41cm B
ol AW
- ) A.D 3 ~_ 5. = d
1 A e andAC-—Sﬁcm.thenAE =
g . AD_38 4aqtn AC=5'6cm voR AE =7 5
B £ @thmo ABC 0t DE II Bc’_ﬁ_ﬁ_ 5 - : ;
(1) dlem (2)- 5cm ‘
3 21 - 4) 7cm :
= SPACE FOR ROUGH WORK /-DB0508 S5 .
L]
(P.T.O.
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i Jy_.x ,__.ﬁ -m

P Il eec Vi t[CC\S fi

e t from the th.r er 0 [ ¢
oint yod Whll:h is eqUIdISta ;
0{ th 1

.ldllla s e i 26. If the slope of
The €00 in the B0 Dyee |
= AAOB s 8HO¥" 0 G0, 50266 Bpe 008 SR L5 oS* i) Doy P b sy, (4,2) 5:8050 (2
iy AAOB 88
paod & (1) =3
v (3) 3
[ A(O, Qy)
27. In the followi
P —
8¢ |S08 Sewos”
b 0] B(2x, 0)
(0, 0)
v
(1) (xy) @ @
Ry y f)
€] (5-5] ) (4) [2'2
(1) 3
- In what ratio, Y-axis divides the line segment joining the points P(-4,2) and Q8,3 » B) &
Fl4,2) 5805 Q(8,3) Bocrsyenss £8% Bar POGR) Y-50 J DH@S® DB3008?
) 31 2) 1:3
eyl 28. BC ~ ADEF
G 2 (4) - i
f BC=21cm,
24, If the centroid of g tnangle formed by the points (@,b), (b,c) and (c,a) is at the AABC ~ AD
origin, then g3 4,3 , . EF =
a,b), (b,
( JJ[ ,C) 20Bafay (c a] QOCSJQ}EJ@‘ bdg&ﬁ L@aﬁmo mgb ﬁ‘)ﬁ)é:s gOLdo Sooee 20693 ';"E (1) 2-8 em
Siond, 3,43 3 _ (3) 26wem
(] abe
i (2) o
I athie
. (4) 3abe 29. In AABC, DE
I the point
® (12),(-1,k) and (2,3
(h2), (1 k (2.3) are collinear, then the valye of k is S Sgoeso AB(
0 g k) SsBayy (2, 3) @d dorsen a‘ésﬁq&;oaa k o6
_‘"ﬂ__ ; (), (1) 3 em
e [q) 2 \—(w
SPACE FOR ROUGH we IRK /0ty Ry =
v gﬁ&
g . E &
-2 .7,
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13. The pair of linear equations a;x+by+¢

14,

15.

16.

3 .,t"l:’?‘l‘-_

e e
PRSYIRSINN c.'u‘?T' , .fai-.. b i

=0 and agx+byy+Cy =0 has @ Uniqy,

solution, then
ayx+ by + ¢ =0 S9BoK ayx+byy +Cy = 0 & Do Shosere B JFE 6D 908, oy

a b ﬂzﬂ 20
(1) E:;#E (2) o, by o

aq_b_a g b
B, a0 b o ® @ b

Nimra went to a bank to withdraw ¥2,000. She asked the cashier to give her ¥5)
and ¥100 notes only and she got 30 notes in all. How many notes o
¥50 and ¥100 respectively that she received?

QETe 2,000 Sraranen SETHERS a8 ergo8H IR0, & 95510535:)3 & Dozdd 50 Erandie
S08ci0 100 &rarae S SrBRy adgo0 59808, ko 30 e &> ETIT, & UK G
50 Srarahe S 20805 100 Erarahe Sy SEHBT IY?

(1)* 20, 10 (2) sy als
(3) 10,20 (4) None of these
R

If 2 is a root of the equation x? — px+g=0 and p2 =4q, then the other root is
%2 — px+q =0 B $HESETOE 2 2 HareBn Ho80%0 p?= 4g ©o0d, 20578 Suresy

G -2 (2) 2

1
(3) 2 4) -=

The ratio of the sum and product of the roots of the quadratic equatic
l l
7x% -12x+18=0 is

7x°-10x+18=0 B DY BAEBE0 @) S0Teere JwdHn HoBaky AR
(1) v7: 12 (287518
(B) 3:2 4 2:3
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8. The number of Subsets of the set A - ip,q) is

A=1Pq) oD 32008 Ko & il
: D&uttre

| 1 2 Roay

BI. (3) 3 :2] “ 4
4 0

Eisan Which of the fﬁllo‘wing is a polynomial?

_ x*-3x+1
< X

-1: number,

10. If a and B are the zero
i Zeroes 'i__s"ﬁ © Zeroes of the polynomial f(x)= 6x +x-2, then the sum of

10)=6x% + x-2 &8 55568 o e @, B oo o3 Anoso ens
P I
ol (I @) _%
1

1
@ -3 @ 3

11. If the zeroes of the quadratic polynomial ax? +bx+c(c#0) are equal, then | 5%

F ;Tg ::n: E:‘:’L DPZS’SWT ij:gt have same signs a. - 'gr‘ i, '_-;f
8o @ o 3588 e ¢ 9805 a 00 8 10K SOR iy

(3) + b? % 4ac (4) None of these e S0 ]

D Y 39

=Tk,

—

~12. If0, B, yare the roots of 4x®—6x”+7x+3=0, then the value of af+pr+1o is ‘
45 —6x2 + Tx+3 = 0 S8y Jorered o, B, Y e 0B, of + By +yo Bty deod e 4

Ak (4y
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*ﬁ!;_ﬁh y y £
18 ..*.::'\ ™w ‘.(-. F
AL ] | £
f .." r'\’ A ._‘3
Nl .._--'1 ) W - . g Coik
T L a1 ___‘.'m g v B e
. Which of the following statements is not correct? 8. The
S (508 PONTOS" OB PBALHE SeH? ) A=1
(1) The sum of a rational number and an irrational number is an irrational number. )
&8 S55Ea Foag 20Baty 8 Eselatn sopy o 2.5 KA Sogs ©PBI0B. (3)
(2) The sum of two irrational numbers need not be an irrational number. 9. Whit
Boch elah Noae Dnwo a¥ EEHa Hogg SHBR0 Bé. , ' g
(3) The product of a non-zero rational number and an irrational number 1S o soE
irrational number. (1)
2 Brges ossan Bopg 900 8 Suelan Soap oo 8 KB Son @B
(4) The product of two irrational numbers is always an irrational number. 3)
Boh Ko Soage oBo JEPET &l SEBaD oy ©HE08.
. o
. The HCF of 306 and 657 is . Ii.iero
zZ
306 08aiw 657 & K. x50
(1) 10 2) 8 fixl
3). 9 4) 7
(3) (4) )
. The value of log, 32 is 3)
logy 32 Bwg); dewsd
(1) 2 (2) 32 11. If th
(3) 5 (G Y 2
ax
. If A={1,2,{3,4},5}, then which of the following is incorrect? (1)
A={1,2,{3,4},5} eond, & 808 dS° DB IBGHIG $°e8>?
(1) {3,4}eA 2) {84}cA
(3) {3,4)cA (4) None of these (3)%
Jd 5°9)
If A and B are the two sets containing 3 and 6 elements respectively, then what 12. f @,
can be the maximum number of elements in AUB? 453
Both Snten A 5:8aw B @ SERT 3 508050 6 aresess EOR DYWONB, AU B &° gyt ¥
Saresee (B3 Sog 087 (1)
(1) o (2) 10 3
(3) 11 4) 12 (3)

SPACE FOR ROUGH WORK /2805508 RS

/4—A 2] M““A




